Technical Data | KPEX-0001.2

Ex d e Double Compression Metric Cable Gland

Features

— A double compression cable gland for use with
SWA (Steel wired Armoured)
SWB (Steel wired Braid)
AWA (Aluminium wired Armour)

— Suitable for use in Zones 1, 2, 21, 22

— Flameproof Ex d and increased safety Ex e

App

rovals

& HE 55 ©-

Certification & Standards

Approved to: EN/IEC 60079-0, 60079-1, 60079-7, 60079-31, 60529
L " aring EC T_Y_PE Examination CESI 13 ATEX 041X, IECEx CES 13.0014X
\ CH1 CH2 CH3 Certificate: Ex dIIC Gb
Ex e lIC Gb
Thread I L — jw D2 Ex tb lIC Db
L i i IP66-68
"""'"'"'"'""'"""'%’" | Temperature: -40°C bis +100°C
Nickel Plated |Metric Sealing Range Cable Gland Dimensions Torque (Nm) |GID Codes
Brass Part No. |Thread D (min.-max.) :D1 (min.-max.) [Hmin. :Lmin. :CH1 CH2 CH3 D2 min. |[CH2 :CH3 |Single Kit
EXNO3MSC1 ~ M16x15 |3-85 6-12 47 6 22 26 VVVVVV 26 29 21 25 7TCA297180R0022 7TCA297180R0539
EXNO3MMCT ~ M16x15 |6-12 85-16 48 6 25 ;29 o 315 |49 j28 7TCA297180R0020 ‘7TVCA29777180R054O
EXNO4MSC1 ~ |M20x15 |3-85 6 -2 47 16 24 26 VVVVVV 26 29 et 2% 7TCA297180R0032 : 7TCA297180R0361
EXNO4MMCT ~ M20x1.5 |6-12 3_8.5 -6 47 3167 3 25 29 9 31.5 149 28 7TCA297180R0030 : 7TCA297180R0362
EXNO4MLCT ~ |M20x1.5 |12-145  :16-20 50 6 28 30 777777 32 3% 133 j33 7TCA297180R0028 : 7TCA297180R0363
EXNOSMSC1 ~ |M25x1.5 [6-12 85-16 48 8 i29 29 VVVVV 29 1315 |49 28 7TCA297180R0042 : 7TCA297180R0364
EXNOSMMCT  |M25x1.5 [12-16 :16 A 53 18 32 34 334 137 |30 27 7TCA297180R0040 : 7TCA297180R0365
EXNOSMLCT ~ [M265x1.5 |12-20  :16-26 60 18 36 40 40 44 |61 32 7TCA297180R0038 : 7TCA297180R0366
EXNOBMSC1 ~ |M32x1.5 [12-20 16-26 62 f 18 40 40 140 44 161 32 7TCA297180R0050 : 7TCA297180R0367
EXNOBMMCT ~ |M32x1.5 [16-26 ,20 -33 78 18 48 52 352 57 |86 40 7TCA297180R0048 : 7TCA297180R0368
EXNO7MSC1 ~ |M40x1.5 {15-26 :20-33 78 8 48 52 52 i57 |86 40 7TCA297180R0058 : 7TCA297180R0369
EXNO7MMCT ~ |M40x 1.5 |20-32 i29-41 89 18 55 60 360 66 110 75 7TCA297180R0056 : 7TCA297180R0370
EXNO8MSC1 ~ IM50x1.5 |22-35  :33-48 97 18 60 0 :75 82 |10 075 7TCA297180R0066 : 7TCA297180R0371
EXNO8MMCT M50 x1.5 |27 -41 i36 -52 100 8 70 70 74 383 125 75 7TCA297180R0064 : 7TCA297180R0372
EXNOOMSC1 ~ |MB3x1.5 [35-45 143 -57 106 20 75 80 380 i89.5 ~|160 140 | 7TCA297180R0074 : 7TCA297180R0373
EXNOOMMCT ~ |MB3x1.5 40-52 47-60 107 20 85 8 :85 94 1250 ©100 | 7TCA297180R0072 :7TCA297180R0374
EXN1OMSC1 ~ IM75x1.5 140-52  47-60 107 20 85 85 i85 94 1250 :100 |7TCA297180R0082 : 7TCA297180R0375
EXNTOMMCT ~ |M75x1.5 |45-60 :64-70 125 20 190 9% 100 3110.57 ~]250 150 | 7TCA297180R0080 : 7TCA297180R0376
EXN11MSCT ~ IM90x1.5 45-60 354 -7 125 320 VVVVVV 95 95 7””11700 1105 250 150 | 7TCA297180R0880 :7TCA297180R0974
EXN11MMC1 M0 x 1.5 |60-72 163 - 80 154 20 110 115 115 127 320 i210 |7TCA297180R0223 7TCA297180R0897

*To purchase cable glands with locknuts, shrouds, earth tags and washers where appropiate add a K to the end of the part number e.g EXNO4AMMC1K

CMG House, Station Road, Coleshill, Birmingham, B46 1HT United Kingdom

Tel: +44 (0) 1675 468 213 | Email: sales@kopex.co.uk
www.tnb-hazardous.com

AL 1D ID
MRpp

Power and productivity

The Company’s policy is one of continuous improvement and reserves the right to change ™
for a better world

specifications at any time without prior notice.



Technical Data | KPEX-0001.2

Ex d e Double Compression Metric Cable Gland

Stainless Steel | Metric Sealing Range Cable Gland Dimensions Torque (Nm) |GID Codes

Part No. Thread D (min.-max.) :D1 (min.-max.) |Hmin. :Lmin. :CH1 CH2 CH3 D2 min. [CH2 :CH3 |Single Kit

EXSO3MSC1  |M16x 1.5 6-12 47 16 22 2% 26 29 |27 25 |7TCA297180R0088 : 7TCA297180R0543
EXSO3MMCT  |M16x1.5 85-16 48 16 25 29 o9 315 |49 28 |7TCA297180R0086 : 7TCA297180R0544
EXSO4MSCT  |M20x 1.5 6-12 47 16 o4 26 26 9 o7 7TCA297180R0098 : 7TCA297180R0443
EXSO4MMC1 ~ |M20x 1.5 85-16 47 6 %5 29 29 315 |49 7TCA297180R0096 : 7TCA297180R0444
EXSO4MLC1  |M20x 1.5 6-20 50 16 28 30 32 3B |3 7TCA297180R0094 : 7TCA297180R0445
EXSO5MSCT  |M25x 1.5 85-16 48 18 29 29 29 315 |49 7TCA297180R0108 : 7TCA297180R0446
EXSOSMMC1  |M25x 1.5 16-21 53 183 34 3 37 30 7TCA297180R0106 : 7TCA297180R0447
EXSOSMLC1  |M25x1.5 16-26 60 18 36 40 40 44 61 7TCA297180R0104 | 7TCA297180R0448
EXSOBMSCT  |M32x1.5 16-26 62 118 40 40 44 el 7TCA297180R0116 : 7TCA297180R0449
EXSOBMMC1  |M32x 1.5 20-33 78 18 52 52 57 186 7TCA297180R0114 : 7TCA297180R0450
EXSO7MSCT  |M40x 1.5 20-33 78 18 5 52 57 |86 7TCA297180R0124 : 7TCA297180R0451
EXSO7MMC1  |M40 x 1.5 29-41 89 18 55 60 60 66 |10 7TCA297180R0122 : 7TCA297180R0452
EXSO8MSC1  |M50 x 1.5 33-48 97 18 60 n 75 &2 10 7TCA297180R0132 : 7TCA297180R0453
EXSOBMMC1  |M50 x 1.5 36-50 100 18 170 70 74 83 125 7TCA297180R0130 : 7TCA297180R0454
EXSOIMSCT  |MB3 x 1.5 43-57 106 20 75 80 80 1895|160 7TCA297180R0140 : 7TCA297180R0455
EXSO9MMC1  |MB3 x 1.5 47-60 107 20 i85 8 85 o4 |o50 7TCA297180R0138 : 7TCA297180R0456
EXS1OMSC1  |M75x1.5 47-80 107 20 i85 85 85 194|250 7TCA297180R0148 | 7TCA297180R0457
EXSTOMMC1  |M75x1.5 54-70 125 20 90 95 100 1105|250 7TCA297180R0146 : 7TCA297180R0459
EXSTIMSCT  |M90x 1.5 54-70 125 120 95 % 100 11105 |250 150 | 7TCA297180R0905 : 7TCA297180R0912
EXS11MMCA1 M90 x 1.5 63 - 80 154 120 110 :115 115 v127 320 ;210 7TCA297180R0902 : 7TCA297180R0977
*To purchase cable glands with locknouts, shrouds, earth tags and washers where appropiate add a K to the end of the part number e.g EXSO4MMC1K

Brass Metric Sealing Range Cable Gland Dimensions Torque (Nm) |GID Codes

Part No. Thread D (min.-max.) :D1 (min.-max.) |[Hmin. :Lmin. :CH1 CH2 CH3 D2 min. [CH2 :CH3 |Single Kit

EX03MSC1  |M16x15 |3-85 6-12 47 16 2 2% % 29 o7 7TCA297180R0154 : 7TCA297180R0527
EXO3MMCT  |M16x15 |6-12 85-16 48 16 25 29 29 315 |49 7TCA297180R0152 : 7TCA297180R0528
EX04MSC1  |M20x15 |3-85 6-12 47 16 4 6 26 29 27 7TCA297180R0164 : 7TCA297180R0337
EX04MMCT  |M20x15 |6-12 85-16 47 16 25 29 9 315 |49 7TCA297180R0162 : 7TCA297180R0338
EX04MLCT  |M20x 1.5 16-20 50 16 28 0 32 35 3 7TCA297180R0160 : 7TCA297180R0339
EX05MSC1  |M25x 1.5 85-16 48 18 29 g 29 315 49 7TCA297180R0174 : 7TCA297180R0340
EXOSMMCT  |M25x 1.5 16-21 53 18 3 34 3 3 30 7TCA297180R0172 : 7TCA297180R0341
EXOSMLCT  |M25x 1.5 16-26 60 18 36 w0 40 44 el 7TCA297180R0170 : 7TCA297180R0342
EX0BMSC1  |M32x 1.5 16-26 62 1840 40 40 44 et 7TCA297180R0182 : 7TCA297180R0343
EXOBMMC1  |M32x 1.5 20-33 78 18 48 52 5 57 86 7TCA297180R0180 : 7TCA297180R0344
EXO7MSC1  |M40x 1.5 20-33 78 18 48 52 52 57 |86 7TCA297180R0190 : 7TCA297180R0345
EXO7MMCT  |M40x 1.5 29-41 89 18 55 60 60 166|110 7TCA297180R0188 : 7TCA297180R0346
EX08MSC1  |M50x 1.5 33-48 97 18 60 0 82 110 7TCA297180R0198 : 7TCA297180R0347
EXOBMMCT M50 X 1.5 -5 100 18 70 170 74 83 |15 7TCA297180R0196 | 7TCA297180R0348
EXO9MSC1  |M63x 1.5 43-57 106 20 75 80 80 1895|160 7TCA297180R0206 : 7TCA297180R0349
EXO9MMCT  |M63x 1.5 47-60 107 20 85 85 8 94 |o50 7TCA297180R0204 : 7TCA297180R0350
EX1OMSC1  |M75x 1.5 47-60 107 20 i85 85 85 94 250 7TCA297180R0214 : 7TCA297180R0351
EXTOMMCT  |M75x 1.5 54-70 125 120 90 5 100 11105 | 250 7TCA297180R0212 : 7TCA297180R0352
EXTIMSCT  |M90x 1.5 54-70 125 20 9 95 100 1105|250 7TCA297180R0218  7TCA297180R0971
EXT1MMC1 M90 x 1.5 63 - 80 154 20 110 >115 115 v127 320 ;210 7TCA297180R0217 :7TCA297180R0963

*To purchase cable glands with locknuts, shrouds, earth tags and washers where appropiate add a K to the end of the part number e.g EX04MMC1K

CMG House, Station Road, Coleshill, Birmingham, B46 1HT United Kingdom

Tel: +44 (0) 1675 468 213 | Email: sales@kopex.co.uk
www.tnb-hazardous.com

AL 1D ID
MRpp

Power and productivity

The Company’s policy is one of continuous improvement and reserves the right to change ™
for a better world

specifications at any time without prior notice.



